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Physiology Jeopardy: Round 2

Respiratory Physiology

$200 – What are 2 factors that will decrease the affinity of RBC to carry O2?

- inc. CO2, dec. pH/ inc. Acidity, inc. temperature  

$400 – What is the name of the air that is left In the lungs after a person has completed a maximal exhalation? – Residual Volume

$600 – Explain the mechanism of Active Inhalation – 

chest inc size (due to diaphragm going down, external intercostals, pec minor, scalenes, Sternocleidomastoid- make ribs go out and up),dec. pressure

$800 – Explain what the scientific name is for rapid breathing & difficult. Tachypnea  
$1000 – Explain why it is more difficult for a hyperbaric chamber is used for people suffering from CO poisoning.  

CO takes active binding sites of for O2, there an individual can suffocate to death. Henry’s Law – quantity of gas that dissolves in a liquid depends on gases solubility coefficient. By inc the pressure, you increase the amount of O2 that can dissolve. (partial pressure increased in the chamber)

Cardiac Physiology

$200 – What are 3 characteristics of a vein? – 1 way valves, low elastic/ contractibility, thin, go back to the heart, muscle pump 

$400 – What is the scientific name of the heart muscle. - myocardium
$600 –What side of the heart is thicker is size & why? – left side thicker b/c it pumps blood to the rest of the body

$800 – What are 2 factors that affect the body’s blood pressure? Cardiac output, peripheral resistance & total blood volume 

$1000 – Explain 3 physiological changes that occur with increased cardio training. 

- inc. SV therefore lower RHR, inc. Q, RBP more constant (120/80 mm Hg), dec. risk of CV disease, inc. RBC count, inc. mitochondria in cells 

ECG & Me

$200 – Where is the SA node located & how many times does it get excited? 

- right atrium & 90-100X/ min

$400 - Cardiologists define this as a fast resting heart beat greater than 100bpm in adults Tachycardia
$600 – What does a larger Flatter T Wave on an ECG represent? • = The Heart is receiving insufficient Oxygen
$800 - •What does a larger Large P Wave on an ECG represent? 

= Enlarged Atria- problems with the bi or tricuspid valves causes a backup of blood in the atria resulting in the expansion of the atrial walls
$1000 - What does a larger Enlarged Q Wave on an ECG represent? 

  = Myocardial Infarction (HEART ATACK!!)
Physiology Jeopardy: Round 2
Bloody Time

$200 – What blood type is the universal donor? Type O blood
$400 – What blood type is the universal reciepient? Type AB blood
$600 – What type of blood cells are involved in blood clotting? Thromocytes (platlets)
$800 - How much blood does an average male & female have? M: 5-6 L,F: 4-5L
$1000 – This is an inherited deficiency of clotting factors that is characteristic of spontaneous bleeding & inter-muscular hemorrhaging. Hemophelia 
NRG Systems

$200 – What is the energy source used to fuel the anerobic alactic system? 

Creatine Phosphate

$400 – What are the byproducts of the aerobic system? CO2, H2O + heat
$600 – What energy system would utilize a type II muscle fiber? Give 2 examples of sports that use this energy system. Aerobic system
$800 – What are the boproducts of each energy system

· anaerobic alactic – none (Cr & P)

· anaerobic lactic – lactic acid

· aerobic – water + CO2
$1000 –Explain the muscle fiber type involved with each NRG system level.

· fast twitch (type II) fibers –anaerobic lactic/ alactic,

· slow twitch (type I) fibers -aerobic

